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Odstranénistav. povrchu tl. 0,2m 2,55m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zdsyp
Stérkodrt SD,
Uprava pléné
Svahovani ndsypu

Oseti

3,00m
1,30 m?
0,15 m?
5,06 m
1,00 m
0,00 m
1,00 m

Odstranénistav. povrchu tl. 0,2m 3,10m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zasyp
Stérkodrt SDg
Uprovo plané
Svahovanindsypu

Oseti

Odstranénistav. povrchu tl. 0,2m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zdasyp
Stérkodrt SDy
Uprcvc plane
Svahovani ndsypu

Oseti

1,90m
0,80 m?
0,05m?
4,80m
0,25m
0,30 m
0,55 m

2,80m

2,20m

1,40 m?
0,06 m2
4,80m
0,50 m
0,00 m
0,50 m
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Odstranéni stav. povrchu tl. 0,2m 2,25m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zdsyp
Stérkodrt SDg
Uprava pléné
Svahovanindsypu

Oseti

Odstranéni stav. povrchu tl. 0,2m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zdsyp
Stérkodrt SDg
Uprovo plané
Svahovanindsypu

Oseti

Odstranéni stav. povrchu tl. 0,2m

Sejmutidrnu tl. 0,2m
Vykop

Zpétny zdsyp
Stérkodrt SDg
Uprovo plané
Svahovanindsypu

Oseti

2,80m

0,90 m?
0,05 m?

4,80 m
0,25 m
0,30 m
0,55 m

2,20m

2,90m

1,55 m?
0,08 m2
4,80m
0,30 m
0,30 m
0,60 m

2,60m
2,60m

0,80m?
0,06 m?2
4,80m
0,00 m
0,60 m
0,70 m



